
Instruction Manual 

Director's Monitor Cage 

(P-DMC) 



                                                                                                                                                                                             2 

 

Subject  Page 
  

Foreword  3 

Introduction 4 

Assembling  5 

Warranty  6 

 

At Proaim, our goal is to ensure 100% Customer Satisfaction in all that we do. 
 

We back our sales with a 1 year warranty from the date of purchase and work hard 
to resolve any problems in the unlikely event one should arise. 

 

With our commitment to continuous improvement and your Feedback, building on 
our reputation of providing affordable, quality products is  

PRIORITY #1. 

Table of Contents 



                                                                                                                                                                                             3 

 

Dear Client, 
 

On behalf of all the people that work so hard to provide you with the most              
up-to-date, flexible and cost-efficient production gear, we would like to welcome 
you into the Proaim family.  
 

By purchasing your Proaim Director's Monitor Cage, you have just joined a host of        
designers, engineers, machinists, assembly, customer service and office staff that 
take great pride in all that they do. Our mantra of continuous improvement has 
been the  guiding principle of how we conduct our business since day one.  
 

Once you have the opportunity to experience your new Proaim Director's Monitor 
Cage, we hope you will agree that we craft quality products at a competitive price.     
Products designed to meet and exceed the standards of today’s real production 
world.  
 

Standards set by our valued clients and standards we strive to maintain. 

With Best Wishes, 
Proaim Team 

     Welcome To Proaim! 



                                                                                                                                                                                             4 

 

Proaim launches its new and compact Director Monitor Cage that makes you watch 
your videos on-the-go and allows any LCD to be attached on it. The Foam grips on 
the side allows secure and comfortable holding for long shooting hours, the neck 
strap distributes the weight for ease. The Monitor cage also includes a V- mount 
battery plate (Gold/AB mount on demand) for attachment of battery power, and  
also has plenty of room for wireless receivers or other additional accessories. The 
Director Monitor Cage also features 1/4’’-20 and 3/8”-16 tripod mounting             
capability.  

1. 1/4-20 x 5/8” button head screw – 14 pcs 
2. 1/4-20 x 3/8” button head screw-6pcs 
3. 1/4-20 x 2” button head screw – 2pcs 
((for Odyssey 7Q location pin ) 
4. M2.5 x /4-20 x 2” button head screw – 2pcs 
5. 4mm allen key— 1pcs 
6. Plastic washers — 32pcs  
7. Sliver washers— 7 pcs 

     Introduction  

     What’s In The Box 
Please inspect the contents of your shipped package to ensure you have received 
everything that is listed below. 



                                                                                                                                                                                             5 

 

 Select the two MAIN BRACKETS and   locate 
the correct 1/4-20 HOLES  

 Select the four SIDE BRACKETS, align to 1/4
-20 HOLES as shown below,  insert the 1pcs 
of 12mm washer & select 1/4-20 x 5/8” 
SCREWS, tighten to MAIN BRACKET with 
allen wrench. 

  Select the two HANDLES, locate and align 
the 1/4-20 HOLES to SIDE BRACKETS as 
shown below, select 1/4-20x5/8” SCREWS 
& washers then tighten the allen wrench. 

 Select the two OFFSET BRACKETS and lo-
cate the correct 1/4-20 HOLES on the MAIN    
BRACKETS 

  Locate and align SCREW CHANNELS on 
OFFESET BRACKET to 1/4-20 HOLES, select 
the 1pcs of 10mm washers and tighten 1/4-
20x1/2” SCREWS with allen wrench  

 6. Select BATTERY PLATE, the two POSTS, 
and 1/4-20x2” SCREWS . 

 Locate and align the POSTS to the correct 
1/4- 20 HOLES on MAIN BRACKET as 
shown below 

 Align SCREW CHANNELS of BATTERY PLATE 
over POSTS, insert the 1pcs of 12mm 
washers and tighten 1/4-20x2” SCREWS to 
MAIN BRACKET with allen wrench.  

     Assembling 



                                                                                                                                                                                             6 

 

WARRANTY 
 

We offer a one year warranty for our products from the date of purchase. 
 

We will repair or replace your product, free of charge, in the event of a defect in materials or 
craftsmanship obtained during normal use or handling based on the user manual. Please note 
that we will not cover any shipping costs for returning the product to us. If any VAT or import   
duties are applied to the return, we will also charge these costs to the customer.  
 

The warranty does not include, by the way of example, damage caused by products that we do 
not supply or from mishandling in transit, accident, misuse, neglect, lack of care of the product , 
or service by anyone other than our company.  
 

We are not liable for incidental or consequential damages resulting from the use of the unit or 
occurring due to any breach of this warranty.  
 

Replacement parts of the product will be provided at nominal cost (covering the cost price of the 
replacement parts only) to the customers after the Warranty Period has expired. We will cover  
 

the complete cost of sending replacement parts within the warranty period. After that, Nominal 
cost of the product & Actual shipping cost will be charged.  
 

Do not send the unit to us without first getting a response and getting the approval to send back 
the item. 
 

In case of any kind of dissatisfaction, we urge you to Contact us immediately and we shall do our 

Best to help you out. For any other assistance you can reach us via email. 
 
For any other assistance you can reach us via email. 

YOUR PROAIM DIRECTOR'S MONITOR CAGE 

ALL DRESSED UP AND READY TO GO!  


